Progress Estimate Number 7		Contract ID Prime Contractor	191115-B02 W. L. Miller Company	Pay Period Start Pay Period End	July 16, 2020 August 1, 2020	Original Contract Amount Net Change Order Amount Current Contract Amount	\$790,384.99 \$0.00 \$790,384.99	
Approval Date							By User	
August 3, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by							
August 3, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by							
August 4, 2020			Review	ed and Approved at	the Central Office	Controllers Office Level by	greggd1	
Original Completion Date		Current Comp	etion Date Ad	tual Completion Da	ate %	% of Current Contract Amount Co		
September 1, 2020 September 1, 2			1, 2020			88.82%		

No Milestones Exist for Contract

Contract Total Pay For Estimate No. 7				
	This Estimate	Previous	To Date	
191115-B02				
Total Posted Items	Pay \$701,986.42	\$0.00	\$701,986.42	
Gross Item Adjustr	nents (\$108,531.22)	\$95,529.14	(\$13,002.08)	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	e \$0.00	\$0.00	\$0.00	
Other Contract Adj	ustments \$0.00	\$0.00	\$0.00	
		\$95,529.14	\$688,984.34	
Contract Total Payable This Estimate:	\$593,455.20			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2S3188	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT		\$2.370	61,687	\$146,198.19
	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	SQYD	\$0.520	220,782	\$114,806.64
	0040	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	1,025	\$6,150.00
	0050	6161009	FLAG ASSEMBLY	EA	\$20.000	8	\$160.00
	0060	6161025	CHANNELIZER (TRIM LINE)	EA	\$15.000	12	\$180.00
	0070	6181000	MOBILIZATION	LS	\$16,450.000	1	\$16,450.00
	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	131,738	\$14,491.18
	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	89,739	\$9,871.29
Project J2S	3188 - Tot	al					\$308,307.30
J2S3290	0100	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$2.370	28,233	\$66,912.21
	0115	4094012	SEAL COAT AGGREGATE, GRADE B2	SQYD	\$0.520	101,488	\$52,773.76
	0120	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$1,000.000	2	\$2,000.00
	0130	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	696	\$4,176.00
	0140	6161009	FLAG ASSEMBLY	EA	\$20.000	4	\$80.00
	0150	6161025	CHANNELIZER (TRIM LINE)	EA	\$15.000	12	\$180.00
	0160	6181000	MOBILIZATION	LS	\$8,512.000	1	\$8,512.00
	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	52,530	\$5,778.30
	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	69,138	\$7,605.18
Project J2S	3290 - Tot	al					\$148,017.45
J2S3291	0210	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$2.370	49,028	\$116,196.36
	0220	4094012	SEAL COAT AGGREGATE, GRADE B2	SQYD	\$0.520	175,100	\$91,052.00
	0230	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$1,000.000	2	\$2,000.00
	0240	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	968	\$5,808.00
	0250	6161009	FLAG ASSEMBLY	EA	\$20.000	8	\$160.00
	0260	6161025	CHANNELIZER (TRIM LINE)	EA	\$15.000	12	\$180.00



Progress Estimate Number 7		Contract ID Prime Contractor	191115-B02 W. L. Miller Company	Pay Period Start Pay Period End	July 16, 20 August 1,	2020 Net Chan	Original Contract Amount Net Change Order Amount Current Contract Amount		
Project Number	Line Number	ltem Code		Item Description		Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2S3291	0270	6181000	MOBILIZATION				\$10,100.000	1	\$10,100.00
	0280	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS				\$0.110	98,934	\$10,882.74
	0290	6206001C	4 IN. YELLOW STAN MARKING PAINT, T	NDARD WATERBORNE YPE P BEADS	PAVEMENT	LF	\$0.110	84,387	\$9,282.57
Project J28	63291 - Tot	al							\$245,661.67
Overall - Total								\$701,986.42	

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2S3188	0010	EMULSIFIED ASPHALT, SEAL COAT	Material			-61,687	\$2.37	(\$146,198.19
	0010	EMULSIFIED ASPHALT, SEAL COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user buckj overridding Payment Estimate Exception 15 on the current Payment Estimate.	61,687	\$2.37	\$146,198.19
	0010	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	Asphalt Cement Price Adjustment				(\$13,046.62)
	0020	SEAL COAT AGGREGATE, GRADE B2	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$35,132.08)
	0020	SEAL COAT AGGREGATE, GRADE B2	Material			-220,782	\$0.52	(\$114,806.64)
	0020	SEAL COAT AGGREGATE, GRADE B2	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user buckj overridding Payment Estimate Exception 23 on the current Payment Estimate.	220,782	\$0.52	\$114,806.64
	0080	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-131,738	\$0.11	(\$14,491.18)
	0080	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user buckj overridding Payment Estimate Exception 29 on the current Payment Estimate.	131,738	\$0.11	\$14,491.18
	0090	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-89,739	\$0.11	(\$9,871.29)
	0090	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user buckj overridding Payment Estimate Exception 33 on the current Payment Estimate.	89,739	\$0.11	\$9,871.29
J2S3290	0100	EMULSIFIED ASPHALT, SEAL COAT	Material			-28,233	\$2.37	(\$66,912.21)
	0100	EMULSIFIED ASPHALT, SEAL COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user buckj overridding Payment Estimate Exception 2 on the current Payment Estimate.	28,233	\$2.37	\$66,912.21



Prog			15-B02 Miller Comp	Miller Company Pay Period End August 1, 2020 Net			riginal Contract Amount et Change Order Amount urrent Contract Amount			
Project Number	Line No.	Item Descr	iption	Adjustment Type	Other Item Adjustment Type	Comn	nents	Adjustmer Quantity	t Line Item Adjustment Unit Price	Adjustment amount
J2S3290	S3290 0100 EMULSIFII) ASPHALT, SEAL COAT	Other Item Adjustment	Asphalt Cement Price Adjustment					(\$5,971.19
	0115	SEAL COAT AG	GREGATE, GRADE B2	Construction Stockpile		Payment Estimate Item	Adjustment gene Stockpile Transa			(\$16,145.40
	0115	SEAL COAT AG	GREGATE, GRADE B2	Material				-101,48	\$0.52	(\$52,773.76)
0115		SEAL COAT AGGREGATE, GRADE B2		Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0010) due to user buckj overridding Payment Estimate Exception 22 on the current Payment Estimate.		Item buckj on 22	3 \$0.52	\$52,773.76
	0170	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS		Material				-52,53	\$0.11	(\$5,778.30)
	0170	4 IN. WHITE WATERBORNE MARKING PAI	PAVEMENT	Material		overridding Payment	Payment Estimate)007) due to user	Item buckj on 25) \$0.11	\$5,778.30
	0180	4 IN. YELLOW WATERBORNE MARKING PAI	PAVEMENT	Material				-69,13	3 \$0.11	(\$7,605.18)
	0180	4 IN. YELLOW WATERBORNE MARKING PAI	PAVEMENT	Material		overridding Payment	Payment Estimate)008) due to user	Item buckj on 31	3 \$0.11	\$7,605.18
J2S3291	0210	EMULSIFIED) ASPHALT, SEAL COAT	Material				-49,02	\$2.37	(\$116,196.36)
	0210	EMULSIFIED	D ASPHALT, SEAL COAT	Material		overridding Payment È	Payment Estimate)011) due to user	Item buckj 8 on	3 \$2.37	\$116,196.36
	0210	EMULSIFIED) ASPHALT, SEAL COAT	Other Item Adjustment						(\$10,369.27)
	0220	SEAL COAT AG	GREGATE, GRADE B2	Construction Stockpile		Payment Estimate Item	Adjustment gene Stockpile Transa			(\$27,866.66)
	0220	SEAL COAT AG	GREGATE, GRADE B2	Material				-175,10	\$0.52	(\$91,052.00)
	0220	SEAL COAT AG	GREGATE, GRADE B2	Material		overridding Payment	Payment Estimate)013) due to user	Item buckj on 24) \$0.52	\$91,052.00
	0280	4 IN. WHITE WATERBORNE MARKING PAI	PAVEMENT	Material				-98,93	\$0.11	(\$10,882.74)
	0280	4 IN. WHITE WATERBORNE MARKING PAI	PAVEMENT	Material		overridding Payment	Payment Estimate 0014) due to user	Item buckj on 27	4 \$0.11	\$10,882.74



Progr	ress Es	timate Number 7	Contract II Prime Con		15-B02 Miller Compa		July 16, 2020 August 1, 2020	Original Contract Net Change Orde Current Contract	r Amount	\$790,384.99 \$0.00 \$790,384.99
Project Number	Line No.	Item Descrij	ption	Adjustment Type	Other Item Adjustment Type	Comm	ents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2S3291	0290	4 IN. YELLOW S WATERBORNE F MARKING PAIN	AVEMENT	Material				-84,387	\$0.11	(\$9,282.57)
	0290	4 IN. YELLOW S WATERBORNE F MARKING PAIN	PAVEMENT	Material		overridding Payment I	ayment Estimate 015) due to user	Item buckj on 35	\$0.11	\$9,282.57
Total										(\$108,531.22



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information									
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
J2S3188	FAF-16-1(19)	Seal coat	16	LEWIS	from Route 6 to Route B in Canton					
J2S3290	FAS- S201(083)	Seal coat	К	LEWIS	from Route E to Route 6 in LaBelle					
J2S3291	FAS S201(59)	Seal coat	С	LEWIS	from Route 6 in Ewing to Route B in LaGrange					

Totals by Job Numbers

J2S3188		This Estimate	Previous	To Date
	Posted Item Pay	\$308,307.30	\$0.00	\$308,307.30
	Gross Item Adjustments	(\$48,178.70)	\$35,132.08	(\$13,046.62)
	Gross Item Pay	\$260,128.60	\$35,132.08	\$295,260.68
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J2S3290			- ·	7.5.4
JZ53Z90		This Estimate	Previous	To Date
	Posted Item Pay	\$148,017.45	\$0.00	\$148,017.45
	Gross Item Adjustments	(\$22,116.59)	\$16,145.40	(\$5,971.19)
	Gross Item Pay	\$125,900.86	\$16,145.40	\$142,046.26
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J2S3291		This Estimate	Previous	To Date
	Posted Item Pay	\$245,661.67	\$0.00	\$245,661.67
	Gross Item Adjustments	(\$38,235.93)	\$44,251.66	\$6,015.73
	Gross Item Pay	\$207,425.74	\$44,251.66	\$251,677.40
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liguidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			• • • • •	• • • • *



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Penou		1	
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EACRS1 - Emulsified Asphalt CRS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EACRS2 - Emulsified Asphalt CRS-2, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EACRS2P - Emulsified Asphalt CRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EAEA150 - Emulsified Asphalt EA-150, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EAEA300 - Emulsified Asphalt EA-300, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EAEA90P - Emulsified Asphalt EA-90P, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4091048, Project Item Line Number 0100, Material Set 409104896, Material 1015EARS1 - Emulsified Asphalt RS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EACRS1 - Emulsified Asphalt CRS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EACRS2 - Emulsified Asphalt CRS-2, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EACRS2P - Emulsified Asphalt CRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EAEA150 - Emulsified Asphalt EA-150, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EAEA300 - Emulsified Asphalt EA-300, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EAEA90P - Emulsified Asphalt EA-90P, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4091048, Project Item Line Number 0210, Material Set 409104896, Material 1015EARS1 - Emulsified Asphalt RS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EACRS1 - Emulsified Asphalt CRS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EACRS2 - Emulsified Asphalt CRS-2, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EACRS2P - Emulsified Asphalt CRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EAEA150 - Emulsified Asphalt EA-150, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EAEA300 - Emulsified Asphalt EA-300, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EAEA90P - Emulsified Asphalt EA-90P, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EARS1 - Emulsified Asphalt RS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 4094012, Project Item Line Number 0115, Material Set 409401296, Material 1003GB2 - Aggregate for Seal Coat Grade B2, Acceptance Action Generic 1003GB2 is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 4094012, Project Item Line Number 0020, Material Set 409401296, Material 1003GB2 - Aggregate for Seal Coat Grade B2, Acceptance Action Generic 1003GB2 is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 4094012, Project Item Line Number 0220, Material Set 409401296, Material 1003GB2 - Aggregate for Seal Coat Grade B2, Acceptance Action	No Remark was entered by Engineer	buckj	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Generic 1003GB2 is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 6206000C, Project Item Line Number 0170, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 6206000C, Project Item Line Number 0170, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 6206000C, Project Item Line Number 0280, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 6206000C, Project Item Line Number 0280, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 6206000C, Project Item Line Number 0080, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 6206000C, Project Item Line Number 0080, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 6206001C, Project Item Line Number 0180, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3290, Item 6206001C, Project Item Line Number 0180, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 6206001C, Project Item Line Number 0090, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3188, Item 6206001C, Project Item Line Number 0090, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 6206001C, Project Item Line Number 0290, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	buckj	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3291, Item 6206001C, Project Item Line Number 0290, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	buckj	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates	(Including this Estimate)
--	---------------------------

lote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
J1115-B02 J	J2S3188	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	61,819.00	0.00	61,819.00	GAL	61,687.00	\$2.37	\$146,198.1
		0001	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	220,782.00	0.00	220,782.00	SQYD	220,782.00	\$0.52	\$114,806.6
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.0
		0001	0040	6161005	CONSTRUCTION SIGNS	2,047.00	0.00	2,047.00	SQFT	1,025.00	\$6.00	\$6,150.0
		0001	0050	6161009	FLAG ASSEMBLY	11.00	0.00	11.00	EA	8.00	\$20.00	\$160.0
		0001	0060	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	12.00	\$15.00	\$180.0
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$16,450.00	\$16,450.0
		0001	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	164,672.00	0.00	164,672.00	LF	131,738.00	\$0.11	\$14,491.1
		0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	112,174.00	0.00	112,174.00	LF	89,739.00	\$0.11	\$9,871.2
5	Project J2	2S3188 - To	otal Value	Posted to D	Date as of Report Generated Date							\$308,307.3
J	12S3290	0001	0100	4091048	EMULSIFIED ASPHALT, SEAL COAT	28,417.00	0.00	28,417.00	GAL	28,233.00	\$2.37	\$66,912.2
		0001	0115	4094012	SEAL COAT AGGREGATE, GRADE B2	101,488.00	0.00	101,488.00	SQYD	101,488.00	\$0.52	\$52,773.7
		0001	0120	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.0
	0001 0130		0130	6161005	CONSTRUCTION SIGNS	876.63	0.00	876.63	SQFT	696.00	\$6.00	\$4,176.0
		0001	0140	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.0
		0001	0150	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	12.00	\$15.00	\$180.0
		0001	0160	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$8,512.00	\$8,512.0
		0001	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	65,662.00	0.00	65,662.00	LF	52,530.00	\$0.11	\$5,778.3
		0001	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	86,423.00	0.00	86,423.00	LF	69,138.00	\$0.11	\$7,605.1
F	Project J2	S3290 - To	otal Value	Posted to D	Date as of Report Generated Date	1						\$148,017.4
							0.00	1.00	LS	0.00		\$0.0
	12S3291	0001	0190	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00				\$4,000.00	φ 0
	I2S3291	0001 0001	0190 0200	2022010 2153000	REMOVAL OF IMPROVEMENTS SHAPING SLOPES, CLASS III	1.00	0.00	11.00	100F	0.00	\$1,400.00	
	J2S3291											\$0.0
	1253291	0001	0200	2153000	SHAPING SLOPES, CLASS III	11.00	0.00	11.00	100F	0.00	\$1,400.00	\$0.0
	1253291	0001	0200 0210	2153000 4091048	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT	11.00	0.00	11.00 49,028.00	100F GAL	0.00 49,028.00	\$1,400.00	\$0.0 \$116,196.3 \$91,052.0
	1283291	0001 0001 0001	0200 0210 0220	2153000 4091048 4094012	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2	11.00 49,028.00 175,100.00	0.00 0.00 0.00	11.00 49,028.00 175,100.00	100F GAL SQYD	0.00 49,028.00 175,100.00	\$1,400.00 \$2.37 \$0.52	\$0.0 \$116,196.3 \$91,052.0 \$2,000.0
	1253291	0001 0001 0001 0001	0200 0210 0220 0230	2153000 4091048 4094012 6123000A	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	11.00 49,028.00 175,100.00 2.00	0.00 0.00 0.00 0.00	11.00 49,028.00 175,100.00 2.00	100F GAL SQYD EA	0.00 49,028.00 175,100.00 2.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00	\$0.0 \$116,196.3 \$91,052.0 \$2,000.0 \$5,808.0
	1253291	0001 0001 0001 0001 0001 0001	0200 0210 0220 0230 0240	2153000 4091048 4094012 6123000A 6161005	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS	11.00 49,028.00 175,100.00 2.00 1,924.00	0.00 0.00 0.00 0.00 0.00	11.00 49,028.00 175,100.00 2.00 1,924.00	100F GAL SQYD EA SQFT	0.00 49,028.00 175,100.00 2.00 968.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00	\$0.(\$116,196.3 \$91,052.0 \$2,000.0 \$5,808.0 \$160.0
	1253291	0001 0001 0001 0001 0001 0001	0200 0210 0220 0230 0240 0250	2153000 4091048 4094012 6123000A 6161005 6161009	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS FLAG ASSEMBLY	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00	0.00 0.00 0.00 0.00 0.00	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00	100F GAL SQYD EA SQFT EA	0.00 49,028.00 175,100.00 2.00 968.00 8.00 12.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00 \$20.00	\$0.(\$116,196.: \$91,052.(\$2,000.(\$5,808.(\$160.(\$180.(
	1253291	0001 0001 0001 0001 0001 0001 0001	0200 0210 0220 0230 0240 0250 0260	2153000 4091048 4094012 6123000A 6161005 6161009 6161025	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE)	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00	100F GAL SQYD EA SQFT EA EA	0.00 49,028.00 175,100.00 2.00 968.00 8.00 12.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00 \$20.00 \$15.00	\$0.0 \$116,196.3 \$91,052.0 \$2,000.0 \$5,808.0 \$160.0 \$180.0 \$180.0
	1283291	0001 0001 0001 0001 0001 0001 0001	0200 0210 0220 0230 0240 0250 0260	2153000 4091048 4094012 6123000A 6161005 6161009 6161025 6181000	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00 1.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00 1.00	100F GAL SQYD EA SQFT EA EA LS	0.00 49,028.00 175,100.00 2.00 968.00 8.00 12.00 1.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00 \$20.00 \$15.00 \$10,100.00	\$0.1 \$116,196.3 \$91,052.0 \$2,000.1 \$5,808.1 \$160.0 \$180.1 \$180.1 \$10,100.1 \$10,882.3
	1283291	0001 0001 0001 0001 0001 0001 0001 000	0200 0210 0220 0230 0240 0250 0260 0270 0280	2153000 4091048 4094012 6123000A 6161005 6161005 6161025 6181000 6206000C	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00 123,668.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	11.00 49,028.00 175,100.00 1,924.00 8.00 100.00 1.00 123,668.00	100F GAL SQYD EA SQFT EA EA LS LS	0.00 49,028.00 175,100.00 968.00 8.00 12.00 1.00 98,934.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00 \$20.00 \$15.00 \$10,100.00 \$0.11	\$0. \$116,196. \$91,052. \$2,000. \$5,808. \$160. \$180. \$10,100. \$10,882. \$9,282.
	1253291	0001 0001 0001 0001 0001 0001 0001 000	0200 0210 0220 0230 0240 0250 0250 0260 0270 0280	2153000 4091048 4094012 6123000A 6161005 6161005 6161025 6181000 6206000C 6206001C	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00 123,668.00 105,484.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11.00 49,028.00 175,100.00 1,924.00 38.00 100.00 123,668.00 105,484.00	100F GAL SQYD EA SQFT EA EA LS LF	0.00 49,028.00 175,100.00 968.00 8.00 12.00 1.00 98,934.00 84,387.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00 \$20.00 \$15.00 \$10,100.00 \$0.11 \$0.11	\$0.0 \$116,196.3 \$91,052.0 \$2,000.0 \$5,808.0 \$160.0 \$110,100.0 \$110,882.3 \$10,882.3\$}\$10,882.3 \$10,882.3\$}\$10,882.3 \$10,882.3\$}\$10,882.3\$}
	1253291	0001 0001 0001 0001 0001 0001 0001 000	0200 0210 0220 0230 0240 0250 0260 0260 0270 0280 0280 0290	2153000 4091048 4094012 6123000A 6161005 6161005 6161025 6181000 6206000C 6206001C 6061060	SHAPING SLOPES, CLASS III EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE B2 TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS FLAG ASSEMBLY CHANNELIZER (TRIM LINE) MOBILIZATION 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11.00 49,028.00 175,100.00 2.00 1,924.00 8.00 100.00 123,668.00 105,484.00 300.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11.00 49,028.00 175,100.00 1,924.00 8.00 100.00 123,668.00 105,484.00 300.00	100F GAL SQYD EA SQFT EA EA LS LF LF	0.00 49,028.00 175,100.00 968.00 8.00 12.00 1.00 98,934.00 84,387.00 0.00	\$1,400.00 \$2.37 \$0.52 \$1,000.00 \$6.00 \$20.00 \$15.00 \$10,100.00 \$0.11 \$0.11 \$24.00	\$10,000 \$116,196.3 \$91,052.0 \$2,000.0 \$5,808.0 \$160.0 \$180.0 \$180.0 \$10,100.0 \$10,822.7 \$9,282.5 \$0.0 \$0.0 \$0.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2S3188

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	7/17/20	7/21/20	11,469.00	GAL	Both Lanes	0.00		2.882		
			7/20/20	7/21/20	32,753.00	GAL	Both Lanes	2.882		11.747		
			7/22/20	7/24/20	17,465.00	GAL	Both Lanes	11.747		16.687		
0020	4094012	4094012 SEAL COAT AGGREGATE, GRADE B2		7/21/20	40,588.00	SQYD	Both Lanes	0.00		2.882		
			7/20/20	7/21/20	124,819.00	SQYD	Both Lanes.	2.882		11.747		
			7/22/20	7/24/20	55,375.00	SQYD	Both Lanes.	11.747		16.687		
0040	6161005	CONSTRUCTION SIGNS	7/22/20	7/24/20	984.00	SQFT		0.00		16.687		
			7/25/20	7/28/20	41.00	SQFT		0.00		16.687		Striping Signs
0050	6161009	FLAG ASSEMBLY	7/22/20	7/24/20	8.00	EA	Work Zone Signs.	0.00		16.687		
0060	6161025	CHANNELIZER (TRIM LINE)	7/22/20	7/24/20	12.00	EA	Flagger Locations.	0.00		16.687		
0070	6181000	MOBILIZATION	7/22/20	7/24/20	1.00	LS		0.00		16.687		
0080	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	7/25/20	7/28/20	131,738.00	LF		0.00		16.687		80% Pay
0090	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	7/25/20	7/28/20	89,739.00	LF		0.00		16.687		80% Pay

Project: J2S3290

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0100	4091048	EMULSIFIED ASPHALT, SEAL COAT	7/16/20	7/21/20	22,888.00	GAL		19.535		26.219		Both Lanes
			7/17/20	7/21/20	5,345.00	GAL		18.035		19.535		
0115	4094012	SEAL COAT AGGREGATE, GRADE B2	7/16/20	7/21/20	85,093.00	SQYD		19.535		26.219		Both Lanes
			7/17/20	7/21/20	16,395.00	SQYD	Both Lanes.	18.035		19.535		
0120	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	7/24/20	7/27/20	2.00	EA		18.035		26.219		
0130	6161005	CONSTRUCTION SIGNS	7/16/20	7/21/20	655.25	SQFT		18.035		26.219		
			7/24/20	7/27/20	40.75	SQFT		18.035		26.219		
0140	6161009	FLAG ASSEMBLY	7/16/20	7/21/20	4.00	EA		18.035		26.219		
0150	6161025	CHANNELIZER (TRIM LINE)	7/16/20	7/21/20	12.00	EA		18.035		26.219		4 Sets of portable signs
0160	6181000	MOBILIZATION	7/16/20	7/21/20	1.00	LS		18.035		26.219		
0170	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	7/24/20	7/27/20	52,530.00	LF		18.035		26.219		
0180	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	7/24/20	7/27/20	69,138.00	LF		18.035		26.219		

Project: J2S3291

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0210	4091048	EMULSIFIED ASPHALT, SEAL COAT	7/25/20	7/28/20	21,033.00	GAL	Both Lanes	8.180		14.380		
			7/28/20	8/3/20	-31.00	GAL	P.Q. Entry					
				8/3/20	28,026.00	GAL	Both Lanes	0.00		8.180		
0220	4094012	SEAL COAT AGGREGATE, GRADE B2	7/25/20	7/28/20	75,495.00	SQYD	Both Lanes	8.180		14.380		
			7/28/20	8/3/20	99,605.00	SQYD	Both Lanes	0.00		8.180		
0230	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	7/29/20	7/30/20	2.00	EA	Striping Operation	0.00		14.38		
0240	6161005	CONSTRUCTION SIGNS	7/28/20	8/3/20	927.50	SQFT		0.00		14.38		
			7/29/20	7/30/20	40.50	SQFT	Striping Signs	0.00		14.38		
0250	6161009	FLAG ASSEMBLY	7/28/20	8/3/20	8.00	EA	Work Zone Signs	0.00		14.38		
0260	6161025	CHANNELIZER (TRIM LINE)	7/28/20	8/3/20	12.00	EA	Flagger Locations	0.00		14.38		
0270	6181000	MOBILIZATION	7/28/20	8/3/20	1.00	LS	All	0.00		14.38		
0280	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	7/29/20	7/30/20	98,934.00	LF	80% Pay	0.00		14.38		
0290	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	7/29/20	7/30/20	84,387.00	LF		0.00		14.380		

The information below this line are details from Line Item agency views. No Agency View Details Exist



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0010	EMULSIFIED ASPHALT, SEAL COAT	Material		7	Aug 3, 2020	SYSTEM	(\$146,198.19)	
				7	Aug 3, 2020	SYSTEM	\$146,198.19	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user buckj overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	ACAD	7	Aug 3, 2020	vierss	(\$13,046.62)	
			ACAD - Tota	al			(\$13,046.62)	
	Other Item Adjustment - Total						(\$13,046.62)	
0010 -	Total						(\$13,046.62)	
0020	SEAL COAT AGGREGATE, GRADE B2	Construction Stockpile		2	May 19, 2020	SYSTEM	\$35,132.08	Payment Estimate Item Adjustment generated Stockpile Transaction
				7	Aug 3, 2020	SYSTEM	(\$35,132.08)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	SEAL COAT AGGREGATE, GRADE B2	Material		7	Aug 3, 2020	SYSTEM	(\$114,806.64)	
				7	Aug 3, 2020	SYSTEM	\$114,806.64	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user buckj overridding Payment Estimate Exception 23 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
020 -	Total						\$0.00	
0080	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		7	Aug 3, 2020	SYSTEM	(\$14,491.18)	
	MARKING PAINT, TYPE P BEADS			7	Aug 3, 2020	SYSTEM	\$14,491.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user buckj overridding Payment Estimate Exception 29 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0080 -	Total						\$0.00	
0090	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	Material		7	Aug 3, 2020	SYSTEM	(\$9,871.29)	
	MARKING PAINT, TYPE P BEADS			7	Aug 3, 2020	SYSTEM	\$9,871.29	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user buckj overridding Payment Estimate Exception 33 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0090 -	Total						\$0.00	
0100	EMULSIFIED ASPHALT, SEAL COAT	Material		7	Aug 3, 2020	SYSTEM	(\$66,912.21)	
				7	Aug 3, 2020	SYSTEM	\$66,912.21	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user buckj overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	ACAD	7	Aug 3, 2020	vierss	(\$5,971.19)	
			ACAD - Tota	al			(\$5,971.19)	
	Other Item Adjustment - Total						(\$5,971.19)	
010 <u>0 -</u>	Total						(\$5,971.19)	
0115	SEAL COAT AGGREGATE, GRADE B2	Construction Stockpile		2	May 19, 2020	SYSTEM	\$16,145.40	Payment Estimate Item Adjustment generated Stockpile Transaction
				7	Aug 3, 2020	SYSTEM	(\$16,145.40)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0115	SEAL COAT AGGREGATE, GRADE B2	Material		7	Aug 3, 2020	SYSTEM	(\$52,773.76)	
				7	Aug 3, 2020	SYSTEM	\$52,773.76	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user buckj overridding Payment Estimate Exception 22 on the current Payment Estimate.
			- Total	1	1		\$0.00	
	Material - Total						\$0.00	
)115 -	· Total						\$0.00	
0170	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	Material		7	Aug 3, 2020	SYSTEM	(\$5,778.30)	
	MARKING PAINT, TYPE P BEADS			7	Aug 3, 2020	SYSTEM	\$5,778.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user buckj overridding Payment Estimate Exception 25 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
)170 -	Total						\$0.00	
0180	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		7	Aug 3, 2020	SYSTEM	(\$7,605.18)	
	BEADS			7	Aug 3, 2020	SYSTEM	\$7,605.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user buckj overridding Payment Estimate Exception 31 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
180 -	Total						\$0.00	
210	EMULSIFIED ASPHALT, SEAL COAT	Material		7	Aug 3, 2020	SYSTEM	(\$116,196.36)	
				7	Aug 3, 2020	SYSTEM	\$116,196.36	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user buckj overridding Payment Estimate Exception 8 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	ACAD		Aug 3, 2020	vierss	(\$10,369.27)	
			ACAD - Tota	al			(\$10,369.27)	
	Other Item Adjustment - Total						(\$10,369.27)	
	Total	0 1 1		0		OVOTEN	(\$10,369.27)	
0220	SEAL COAT AGGREGATE, GRADE B2	Construction Stockpile		2	May 19, 2020	SYSTEM	\$27,866.66	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
				1	Aug 3, 2020	STOTEM	(\$27,000.00)	Payment Estimate item Aujustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	SEAL COAT AGGREGATE, GRADE B2	Material		7	Aug 3, 2020	SYSTEM	(\$91,052.00)	
				7	Aug 3, 2020	SYSTEM	\$91,052.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user buckj overridding Payment Estimate Exception 24 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
)220 -	Total						\$0.00	
0220	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		7	Aug 3, 2020	SYSTEM	(\$10,882.74)	
	BEADS			7	Aug 3, 2020	SYSTEM	\$10,882.74	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user buckj overridding Payment Estimate Exception 27 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0280 <u>-</u>	Material - Total						\$0.00 \$0.00	
)280 -)290		Material		7	Aug 3, 2020	SYSTEM		



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0290	BEADS	Material			2020			Estimate Item Adjustment (0015) due to user buckj overridding Payment Estimate Exception 35 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0290 -	Total						\$0.00	
0300	MGS GUARDRAIL	Construction Stockpile		1	Apr 13, 2020	SYSTEM	\$3,201.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$3,201.00	
	Construction Stockpile - Total						\$3,201.00	
0300 -	Total						\$3,201.00	
0310	MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		1	Apr 13, 2020	SYSTEM	\$1,104.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$1,104.00	
	Construction Stockpile - Total						\$1,104.00	
0310 -	Total						\$1,104.00	
0320	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	Apr 13, 2020	SYSTEM	\$12,080.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$12,080.00	
	Construction Stockpile - Total						\$12,080.00	
0320 -	Total						\$12,080.00	
Overa	ll - Total						(\$13,002.08)	